L2045 (2 1)
EERAZBEILOIZREFTMOBMEIZOINT

CEHEEE

FOEER - BHBHEESERHERR

CEMFED
DOHEBBE~BFEN
22008512817 B ~2009%1 8208 OfEI<BL i - M
(32009F1 H22BE#HUIYEL T, EREHE U 2—HHERICHELAA RiE

it « B

R [a] 4R % [a] 4R 3=

SE BIEZHREN 1570 4 1094 69.7%

REH 77 95X 67 87.0%

TE BRERIHEHN 77 % 67 87.0%
X 1H2781R#E

CEMYEE O —&)
BHIEH B FR
H@ET

M1 RIXCORERICESR-ESBMICIRYBEAT, BEE
2 RBEOBMZEEBLEALFEETLIENTE:, B
I3 HEDEHRBAEHLMYOTMhoT=, Bl
4 HEFZEOBEM-BERICHLTETICHIGLTLV I
5 IBZEBMNT—ERBICFEHENGLD, COFREICEAEL-EEFLELEN? R
6 REESHEAZICOWLWTHALERBENH o =, 0%
7  JINARICBEELTBIFONTWSMBE PR hE BB TE -, R
8 FICOIBRELEZELTEHEL =, R
B9  CoEEITkoT  HEADELLEEST. BAL A L
10 COIBETEAETEN . NSEIE HiBE THEITI o1, NSE
B11 COBRZEOHBER. HET=IZELTESTLED, HERE

12 #ABALEDIE. ROSYUILDEBERE ST, Sxul



1. SERIZEDEHS

BE<ESES O%F5385 OEBLEBEALL OF5EbAEL BR{E58bA0  OXEE
0% 10% 20% 30% 40% 50% 60% 70% 80% 90% 100%
REfE 41.7% [ 29.1% 7.8%
1.8%
25 45.7% | 27.8% | 6.9%
Hol) 45.9% | 19.5% 14.8%
S 45.0% | 21.2% 0.3%
B RS [ 37.3% | 0.5%
RiE 36.6% [ 30.4% | 0.2%
R 45.1% | 0.5%
e 41.8% [ 24.2% | 0.4%
BEi M Lk 38.2% | 31.6% | 0.3%
NSE 41.5% [ 20.6% | 0.5%
HEE 66.4% [ 16.6% | 0.5%
S 300% 335 _m*@
- = -m= Lty = 2<{%> = =
EH == |==] & ANE
M<ESRBS E5RS =z CORDEL g el RiB(E &5t
REFE 212 456 318 85 23 0 1094
=X 195 500 304 75 20 0 1094
& A 301 502 213 52 26 0 1094
X ity 312 492 232 35 20 3 1094
B ] 42 101 292 408 245 6 1094
BiE 268 400 333 69 22 2 1094
RE 109 373 493 90 24 5 1094
R 291 457 265 57 20 4 1094
REibm £ 197 418 346 95 35 3 1094
NSE 95 237 454 225 78 5 1094
HOE 36 114 726 182 31 5 1094
Paedl% - - 338 367 339 50 1094

T BERROFINIRODBEY (WFhBEND)

FEERS ) 2R LA E-909 P2 -1 RS FE E-30 0 1R EE - (X OB RS

THE: ZHLO-PPFLN-HE3ERN-PPHLN-ZL

4> )L]: Comprehensive-Reading-Media



2.5 R A D F 1

SE | e TE BT EEEE |

5.00

450 |

400 | .

350 | '

3.00 . .

250 |

\ _/

200 |

150 F

1.00 ‘ ‘ ‘ ‘ ‘ : : : : :

fefE ¢4 £ER s B s mE #E2  BEDLMLE  NSE  HRE

SE N REE BB B XTIt R R BE BE #HE BbLmE NSE HZE
2REH{E 368  3.71 3.91 395 234 375 342 386 359 304 295
EERE 094 090 093 089 105 09 086 093 098 103 072
JEimB R 342 304 310 315 332 218 321 279 272 285 258 286
Prhik i 748 398 399 426 425 242 400 371 439 393 326 299

TE Bzl B FERH |

5.00

450 |

l/

400 | ] q ﬂ H

350 | ‘ '

300 | ‘

\ /

250 |

200 |

150 |

1.00 ‘ ‘ ‘ ‘ : : :

fefE B BTl RS B it mE #E O BELMLE  NSE  HBE

TE N REE BB B it s B R BiE BRE R BEDbmE NSE HHE
2RFHE 386 410 407 412 286 430 370 360 412 327 281
ZHERE 074 068 059 064 073 058 065 063 064 098 056
JEim B Rt 30 343 373 377 387 272 403 327 297 377 303 273
i B BF 37 422 441 432 432 297 451 405 411 441 346 286

F1 R R AT, F8MSERFEETM T1,23LRAELI-L D, B REL (L, H8DSRREET i T45LEMELI=2D,
F2: B, BR<ESRS1=5. [2<{E3 BB =1ELTER,



3. VS ARAT—H(GE) ETET—2D LB

‘ B3E<ESRS OF5RS5 OLbLELEAAL OFS3B A0 B 2(%’3%1’)&‘L\‘ ‘ B3a<E5R5 OZ5R8S5 OELLELEXAL OF5BhAN B2<E53Bhi0
fEE b
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
0% ‘ ‘ \ ‘ 1.5%
I7R 68.7% | 28.4% "SR 40.3% 58.2% [
‘ g [ 15
%8 53.0% [ 25.8% %HE - 53.7% 35.8% [
[
2 o 20% 40% 60% 80% 100% W oy 20% 40% 60% 80% 100%
‘ \
HSR 68.7% 25.4% HSR 79.1% 14.9%
4.5% 1.5
4=l 67.2% | 1 £ a1 49.3% 43.3%
\ 5%
EEA o 20% 40% 60% 80% 100% B ML
‘ 0% 20% 40% 60% 80% 100%
95 A 73.1% [ 17.9% 552 = I : =
r 1.5%
#8 65.7% | 134% #a — 62.7% [10.4%
R o 20% 40% 60% 80% 100% NSE 0% 20% 40% 60% 80% 100%
' [ I I I
93R ; 82.1% [ 10.4% 552 [ 149% ] 79.1% [6.0%
r ‘ 30!
%a 58.2% [ 14.9% %8 _ 20.9% | 47.8% [ 14.9% 4
I I I I
B o 20% 40% 60% 80% 100% %%E‘O% 20% 40% 60% 80% 100%
5% ‘ \ 30 TO0% I
ISR I (])% 34.3% | 58.2% #5352 [] 88.1% [90%
' ‘ 4.6 5% |
%8 154% | 60.0% [ 200% #a ] 70.1% | 25.4%
[ 3.0% I
- g SSa,
FRiR 0% 20% 40% 60% 80% 100% /’\”/”6% 20% 40% 60% 80% 100%
. ‘ .
95 64.2% | 28.4% 52 29.9% I 733%
ESd=] ‘ 58.2% [6.0% E2d=] 35.8% [ 34.3%
—m= —m= Ebibkd 5 2<Z5 =m= =m= Ebibkd 5 2<{%5
==} ==} [==] [==]
gﬁ(%?:m? %7:&\7 Eitﬂ:l’\ Pn.a\bt:l:[z\ IEE\*)EL\ gﬁ(%jl&\j %7:&.\7 %iﬁih\ IEE\*)EL\ :%?\*)EL\
ISR 2 46 19 0 0 ISR 0 27 39 1 0
%8 12 35 17 2 0 E2g=] 6 36 24 1 0
-";—":E ﬁi
ISR 4 46 17 0 0 ISR 4 53 10 0 0
%8 16 45 3 3 0 %HE 4 33 29 1 0
i B mLE
D3R 6 49 12 0 0 ISR 0 39 28 0 0
%8 14 44 9 0 0 e 4] 17 42 7 1 0
Poin NSE
ISR 5 55 7 0 0 ISR 0 10 53 4 0
E24=1 18 39 10 0 0 %8 9 14 32 10 2
[E15] #BA2E
ISR 1 2 23 39 2 IIR 0 2 59 6 0
BE 0 10 39 13 3 E24=] 1 2 47 17 0
18 Txl
ISR 5 43 19 0 0 ISR 0 0 20 29 18
%8 24 39 4 0 0 %HE 0 0 24 23 20

E:SEZRICEHLIISABOTHEEERANE1 Y TILELET—4






